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For 1 and 2 find the volume of each. Round to the nearest hundredth unless noted otherwise.
1. Triangular Pyramid. The Base, 2. Square Pyramid.

ADEF, is andsesesles tnangle
EouU) LATEPAL

h;LL’SL'G;%B

B=3bh- Seen) 93]

3. The V?)Iume of a Square Pyramid is 200 cm?. The Height of the pyramid is 10 cm. Find the length of
each Base Edge to the nearest hundredth.
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For 4 and 5 find the volume of each cone.
4. Leave the answer in terms of 7. 5. Give answer to nearest hundredth.
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6. A Cone with volume 500 cm?® has a helght of 12 cm. Find the length of the radius of the Base to the
nearest t hundredth,
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7. Find the Surface Area of 8. Find the Volume of this Sphere
this Sphere. Leave answer in terms of 7. to the nearest hudredth.
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9. The Surface Area of a Sphere is
360 cm?2. Find its Volume to the
nearest hundredth
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10. The two solids shown are similar. If the Volume of the larger one is 1500 cm3 find the Volume of the
smaller one to the nearest hundredth.
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11. The two solids shown are similar. If the SA of the smaller one is 850 in? find the SA of the larger one
to the nearest hundredth. S —
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12. The two solids shown are similar. The Volume of the larger one is 2197 ft* and the Volume of the
smaller one is 512 ft3 Find the value of x to the nearest hundredth. B
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13. The composite solid shown below is made by putting a rectangular pyramid on top of a rectanglular
prism. The prism and pyramid have congruent Bases. Find the volume of this solid to the nearest

hundredth.
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14. Find the volume of this composite solid formed by putting a cone together with a hemisphere. Round

to the nearest hundredth.
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